


Chapter D. Software
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Figure D.21: SubVI used to indicate twist off based on a measured pressure drop. Uses the same
principle as the layer detection method based on a frequency distribution.
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MSE blows up at small ROP values. It is not expected
that ROP are within -0.3 and 0.3. This might occur when tripping,
Force to slightly larger values MSE = WOB | 21+ RPM * Torque

Area * Area * ROP

Where:

MSE = Mechanical Specific Energy (psi)
WOB = Weight On Bit (Ib)

RPM = Rotations Per Minute

Torque = Rotational torque (in-Ib)

Area = Cross sectional area of bit (in?)
ROP = Rate of Penetration (in/hr)

P = Penetration Per Revolution (in/rev)

Figure D.22: MSE is calculated using this subVI. The MSE is given in MPa.
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D.2 SubVTI’s of LabVIEW

Modbus master in
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[This subVI terminates the hoisting motor Modbus instance

Figure D.23: The Modbus - Ethernet/IP communication is terminated using this subVI. There is no
equivalent subVI to terminate the top drive modbus communication as it is done in each iteration of
the while loop, as seen in Fig. D.14
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Figure D.24: The down hole sensor data are acquired in this subV1.
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